

			Vendor Ranking	Page 1 of 1
Letting:	02240911	September 11, 2024 11:00 AM	Call Order: 004	Contract: E21K8-R0
District:	District 2		Counties: DIST/ST-WIDE	Fed Aid No: N/A
Contract Time:	365 CALEN	DAR DAYS		Project(s): 41022177203 (*)
Contract Desc:	Desilting of I	Pipes and Box Culverts. Distric	ct Wide	

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	MERRELL'S GRADE-ALL, INC.	Responsive	Winning bid	\$717,131.00	100.00%
2	MIDWESTERN CONSTRUCTION, INC	Responsive	Non-Winning Bid	\$884,030.00	123.27%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



Tabulation of Bids

Page 1 of 3

Letting:	02240911	September 11, 2024	Call Order:	004	Contract:	E21K8-R0
District:	District 2		Counties:	DIST/ST-WIDE	Fed Aid No	: N/A
Contract Time:	365 CALEND	AR DAYS			Project(s):	41022177203 (*)

Contract Descr: Desilting of Pipes and Box Culverts. District Wide

The work under this Work Document driven Contract consists of removing and disposing of silt, debris, vegetation, soil, rock, or any type of blockage inside a pipe or box culvert to restore maximum drainage capacity. As directed by the Engineer, furnish, and install weep hole filters, repair cracks, and repair other deficiencies at various structures throughout the district. EXPERIENCE IN BRIDGE REPAIR (FORM 850-070-04) MUST BE COMPLETED AND SUBMITTED WITH THE BID. RENEWAL OPTION. BID EXPRESS MANDATORY.

Line No / Item ID Alternate Item Description	Quantity Units	(1) MERRELL'S INC		(2) MIDWI CONSTRUC			
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (S	UBSTRUCTL	JRE MAINTENANO	CE/REPAIR (MH				
0005 0400150 CLEANING AND SEALING EXISTING CONCRETE SURFACE	500.000 SF	35.00000	17,500.00	40.00000	20,000.00		
0010 0400153 NON SHRINK GROUT, F&I, MISCELLANEOUS- STRUCTURES REHAB	56.000 CF	298.00000	16,688.00	650.00000	36,400.00		
0015 0401 71 11 RESTORE SPALLED AREAS- MAINTENANCE CONTRACTS ONLY, GUNITE, OVER LAND AND <= 20' BRIDGE HEIGHT	30.000 CF	298.00000	8,940.00	2,150.00000	64,500.00		
0020 0411 1 EPOXY MATERIAL FOR CRACK INJECTION- STRUCTURES REHAB	40.000 GA	210.00000	8,400.00	350.00000	14,000.00		
0025 0411 2 CRACKS INJECT & SEAL- STRUCTURES REHAB	30.000 LF	50.00000	1,500.00	400.00000	12,000.00		
0030 0430950 DESILTING CONCRETE BOX CULVER	6,326.000 T CY	103.50000	654,741.00	105.00000	664,230.00		



Tabulation of Bids

Page 2 of 3

Letting: 02240911	September 1	1, 2024 Ca	Il Order: 004		Contract:	E21K8-R0	
Line No / Item ID Altern Line No / Item Description	ernate Quantity Units	(1) MERRELL'S		(2) MIDW CONSTRUC			
() indicates item is bid as Lump		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(SUBSTRUC	TURE MAINTENAN	CE/REPAIR (MH				
0035 0530 1100 RIPRAP, SAND-CEMENT BAG	10.000 S C		4,500.00	2,100.00000	21,000.00		
0040 0530 3 3 RIPRAP- RUBBLE, BANK AND	14.000 SHORE TM		3,262.00	850.00000	11,900.00		
0045 E430 50 3 WEEP HOLE FILTER	40.000 EA	-	1,600.00	1,000.00000	40,000.00		
0001 SUBSTRUCTU MAINTENANCE/REPAIR (N		:	\$717,131.00		\$884,030.00		

Contract Grand Totals:

\$717,131.00

\$884,030.00



		Tabulation of Bids						
Letting:	02240911	September 11, 2024	Call Order: 004	Contract:	E21K8-R0			
			o file a protest within the time pre la Statutes, or failure to post the l					

required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.